e
=

=1

R @
~ OmXk#
OmilE~20mkR

2 0mElE~3 OmkHR

30milk~

\ -
o

4

55t de
VA 3,
/I

6

o W2
4B
s

4

%

iy

g

\\ = o
3 . 467
> \ A \,/ s /\(

'52/1‘1 : B ;{ 77

\ XE\
59
V\%ﬁ*@

R
R

- \
é]\ A4\ — 71.64
e384 T8 745 73573
S\ LBOS T 76, 754 =
—\ 88 T\ Ly

78, ‘,“X//«\\\ \
262

g 3(;/7‘/2? =
7 @7% @1

« 787 AT\ \/:/ 1\7/6”\\ ) o

Ml

\ 20 8.\?7)/%77/'*
o

. i88 . S
N A0\ e e

\

ey \
— . 3 \ \ . 5aa \\ B\
1988 g5 \f\\\iﬁg‘i&\“ e T 0
L s g P e
= = \ iy \ N\l

L W79 O
Lol 22, P e

b}

oy

~ sl

e

5,
47,
o

‘2

8|
.0

3
+

[TEEAERER. HRABRCHBEIS

COBBECERRESNTLDFRME (1.PBE) B, RETF
HEAALREOAECTHALTHVET.
EOREBEHI0NEET I,

| CDTYTE, TROBESZADOKFTICH T HIRMAICKRITTEHL ILZAMITERLEZLDOTY,




